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gew70-5n, Test samples: 3, 5 and 9 colour steps, greu=0,500, expu=1,000, expa=1,000, indexLFi=7, 1IMR-000LF, indexGFi=7, IMR-000GF
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Colour management for output linearization of a 9 step grey scale Colour management for output linearization of a 9 step grey scale
'* (dash-star) coordinates to reach 1,00, 1,00 '* (dash-star) coordinates to reach 1,00, 1,00
W 1,007 . . ; W 1,001 . . . 1,00, 1,049 1,00, 1,00
o the linearized output with the real o the linearized output with the real
W™ output| display reflection in office room; W output| display reflection in office room;
wW'* . " output wW'* . " 0,75, 0,84 output
output| lighter (positiv P) output start output| lighter (positiv P) output -
0,75+ 0.754 W™ output = [W¥input] ©3% real
) _ , _ 0,7 o
W output = [W¥input] 0% W* output = [W¥input] Lt nverse
o - — — —linearized
= W? output = W™ output 0,75, 0,56
0,50t 0,50t
*' (star-dash) coordinates *' (star-dash) coordinates
of real output with real of real output with real
display reflection in office room display reflection in office room;
0,25+ darker (negativ N) output 0,25+ 050, 0,25 darker (negativ N) output
W* output = [W¥input] 2%
LB — * k. = *
N 000 V\.l input = rlgb (=0, o,12ls, 0,250,..,0,87IS, 1) N o000 000,000 : 0,25, 0,06 V\.I input = rgb (=0, 0,12Is, 0,250,..,0,87IS, 1)
’ 0,00, 0,00 i ' ' ' ' 0,00, 0,00 0,00, 0,00 ' ' ) )
N 0,0 0,25 0,50 0,75 1,00 W N 0,0 0,25 0,50 0,75 1,00 W
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L*TUBLOG,U =50 Iog(Y /5Yu) +50,YN =4, YU :ZO,YW:].OO
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TUB-test chart gew?7; Linearization coti®lR-000LFand Gamma (76 lines) in (5/7)n
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Yi=

real), 2 (inverse); linearisation: Gamma=1(5n), 287n,U
Y (6] L

=N12w->N08w)




